@KU KHmET Schubstangenspanner

SCHNELLSPANNER / TOGGLE CLAMPS Stﬁle]ht Line Push-Pull que Toqqle Cldmps

F1 F3 . Andruckspindel Hub L

Modell Nr. (N) (N) Andruckkratt (YIELD) (SQUEEZE SCREW) (STROKE) (WEIGHT)
(FL:Fi) (gr)
521-3(012) 2500 2960 16:1 M8X50 38 390
521-3(014) 2500 3200 16:1 M8X50 38 405
521-4(016) 4500 6650 23:1 M10X70 47 810
521-4(018) 4500 7200 23:1 M10X70 47 825
521-5(020) 7500 15000 30:1 M12X80 55 1425

\ F1 : Druckkraft ( EXERTING FORCE ), F3 : Haltekraft (HOLDING CAPACITY ), Fi : Anwendungskraft (APPLIED FORCE )

520 ve 530-3 SERIE POSITIC ANALYSIS OF POSITION
E E -
500
150
10
o 10 s
= 120
110
300
100
- %0
0 100

—— GRNGIONT AR —— HUNSTROKE

i
H
H
1 ‘
iz :
i
k2

Vo

Befestigungsart : mit waagrechtem FuR, verschweift  “
Body Mounting Base: Horizontal, With Welding

Q09

A ~!"~!"~!’\-—__—,.1=-

NORCES

MODEL NO : 521-5

A
MODEL NO : 521-3 MODEL NO : 521-4
L3 L3
Modell Nr. A B cC|D E E2 F G H H2 ) K L L2 ) 4 | M N

Min Max
521-3(012) 56 56 32,5 -41 35-41| 32 88 142 12 M8 154 85 24 58 83 7x12
521-3(014) 56 56 32,5-41 35-411 32 88 142 14 M8 154 85 24 58 83 7x12
521-4(016) 64 62 345-425 41 40 107 | 179 16 M10 | 186 | 105 32 81 98 9,5x135
521-4(018) 64 62 345-425 41 40 107 | 179 18 M10 | 186 | 105 32 81 98 9,5x135
521-5(020) 100 79 61,5-75 | 345-415 |37-54| 47 125 | 216 20 M12 | 234 | 125 39 94 130 11x22

521-5 ohne Andriickschraube / Squeeze part is not included at 521-5.

Dimensions and technical data are subject to change without notice. -www.kukamet.com.tr- 39



